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diff_cav4bY_mean vs run
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diff_cav4bY_rms vs run
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diff_cav4cY_rms vs run
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diff_cav4dX_rms vs run

o
© <
- O
NE=
: —ef—
20 —
9 o e
i ——
+ e
——
6 ——
Lo ®
———
5 —
(00) — e —
——
———i
e ——
© ——
c ——
~~
O ——
N ——
Xp ——
———
— e —
——
———
——
——
——
——
——
— e —
———
——
——
——
——
—)—
——
——
—— i
——
——
—@—
—e——
——
———
——
——
——
——
———
——
——
H—@—
——
——
——
———
——
——
__________ m __________________________
(@) (0)) (e0) N~ © L0 < (40)
e 0] (e 0] (00) (o0) e 0] (e 0] (00)

£ €207
£ &
0 €207
k oebb
£ &%
0 zZov
7 -1¢8F
g 1Bk

T 'Teov

9 -b¢8¥

S '0cov

5 mm@_w

0 ‘0cov

5 mﬁww

0 ‘6TOV

E Bi8F
£ S1¥

0 '8T0¥

£ 418F

¢ 'LTOV

b 2%
£ -8i8p

Z 9T0v
b ¥k
k €iop
Z "sT07
b <k
v €10V
¢ EfF
b &%
v ‘Z10%
g -e1bk
b 2%
£ TI07
£ ek

0 'TTOV



diff_cav4dY_mean vs run

_ X2 / ndf 64.6 /60

] po -0.05223 + 0.1584 F pulllD

BOH-veeremseeee s E———— of

- Entries 61

Mean -0.01923

B Std Dev 1.029

61 -
Mean 125.3 o
Std Dev 85.95 B

O_III|III|III III|III|III|III|III
-8 -6 -4 -2 0 2 4 6 8




diff_cav4dY_rms vs run
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diff_ bpm4aX_rms vs run
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diff _ bpm4aY_rms vs run
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diff_ bpm4eX mean vs run
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yield _bcm_dg_us rmsvs run
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yield_bcm_dg_ds_mean vs run
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ds_rms vs run
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yield_cav4bQ_mean vs run
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yield_cav4bQ rms vs run
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yield_cav4cQ_rms vs run
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yield_cav4dQ_mean vs run
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yield_cav4dQ _rms vs run
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bcmO0I02_rms vs run
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yield_bpm2i01WS_rms vs run
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yield _bpmOiO7WS_rms vs run

X?/ ndf 1.277e+04 /60

187.8 £ 0.1687

p0

£ €207
£ &
0 €207
k oebb
£ &%
0 zZov
7 -1¢8F
g 1Bk

T 'Teov

9 -b¢8¥

S '0cov

5 mm@_w

0 ‘0cov

5 mﬁww

0 ‘6TOV

E Bi8F
£ S1¥

0 '8T0¥

£ 418F

¢ 'LTOV

b 2%
£ -8i8p

Z 9T0v
b ¥k
k €iop
Z "sT07
b <k
v €10V
¢ EfF
b &%
v ‘Z10%
g -e1bk
b 2%
£ TI07
£ ek

0 'TTOV



104,55}

104.51-

104.45

104.4F

10435}

104.3

104.25

100

50

-100

-150

yield_bpmOIO1WS_mean vs run

3
x10 X / ndf 1.684e+05 / 60

o PO 1.044e+05 + 0.1409

pulllD

Entries 61

Mean -0.4959

Std Dev  3.974

61
-783.5
818.1




yield_bpmOIO1WS rms vs run
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asym_bcm_an_ds_mean vs run
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bcm_an _ds rms vs run

asym_

o O
O O
- M
— .
o0 O Ty
X + -
) v
o) e
Lo vy
— 4
- o
S o
s
c o
~ 5_79
N O @M
< O H@H
@
Py
*
o
Y
T
™
°
™
Y
o
r's
-
Py
Y
Y
Y
-
o
-4
s
s
>
"
e
s
Y
Y
.
@
e
o
®
e
.
%
Y
Y
o bcc o oo b Db oo Lo
o o o o o o o o
o » © N~ © 0 < ™
~N — - — — — — -

£ €207
£ &
0 €207
k oebb
£ &%
0 zZov
7 -1¢8F
g 1Bk

T 'Teov

9 -b¢8¥

S '0cov

5 mm@_w

0 ‘0cov

5 mﬁww

0 ‘6TOV

E Bi8F
£ S1¥

0 '8T0¥

£ 418F

¢ 'LTOV

b 2%
£ -8i8p

Z 9T0v
b ¥k
k €iop
Z "sT07
b <k
v €10V
¢ EfF
b &%
v ‘Z10%
g -e1bk
b 2%
£ TI07
£ ek

0 'TTOV



3000

2000

1000

-1000

—-2000

-3000 |

-4000

asym_bcm_an_ds3 _mean vs run

x2 [ ndf 6.676 /60
pO -33.56 + 200.6

61
105
65.97

30

25

20

15

10

pulllD

Entries 61

Mean -0.009576

Std Dev  0.3307

:u||I|||||||||!{||||||||||||||||

-8 -6 -4 -2 0 2 4 6 8



bcm_an _ds3 rms vs run
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bcm_an uS_Irms vs run
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asym_bcm_dg_us_mean vs run
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asym_bcm_dg_us_rms vs run
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asym_bcm_dg_ds _mean vs run

= X2 [ ndf 7.674 /60
- PO -6.007 +194.5
BOOO [ ++eereeserfessesses i
2000t oo e T b
[ ]
1000 ®-+-
® ® ® ®
[ JRRL ) il ° ! | L JBL J T ! !
®
0 ! Srowr1T oo .‘;-‘o oI [0}
Sl ®e 1l
~1000 o LT Hi
C ® ]
2000 H-++f-o{- Lo oo oLt e b A S e
B0 [

61
65.98
29.29

25

20

15

10

-8

pulllD
Entries 61
Mean -0.004029
Std Dev 0.3547
I|IT|I|III|III|III

0 2 4 6 8



ds_rms vs run
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asym_cav4bQ _mean vs run
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yield_bpm2i02Y_mean vs run
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